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Relação do aço

6xP1 P4

AÇO N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 1356 368 499008

2 5.0 10848 31 336288

3 5.0 97 776 75272

CA50 4 10.0 120 378 45360

5 10.0 360 410 147600

6 10.0 120 510 61200

7 10.0 120 869 104280

8 16.0 29 386 11194

9 16.0 87 420 36540

10 16.0 29 447 12963

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

16.0

5.0

3584.4

607

9105.7

2430.9

1053.8

1543.8

PESO TOTAL

(kg)

CA50

CA60

3484.7

1543.8

Volume de concreto (C-30) = 85.27 m³

Área de forma = 750.59 m²
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